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0.012 0.015 0.016

0.014 0.016 0.017

0.012 0.014 0.016

0.017 0.025 0.030

0.023 0.032 0.035

0.030 0.040 0.050
1. 0.016 0.018 0.020
2. 0.018 0.022 0.025
3. 0.022 0.025 0.030
4. 0.022 0.027 0.033
1. 0.023 0.025 0.030
2. 0.025 0.030 0.033
3. 0.030 0.035 0.040
4. 0.028 0.030 0.035
5. 0.025 0.035 0.040
6. 0.030 0.040 0.050
1. 0.025 0.030 0.033
2. 0.030 0.035 0.040
3. 0.033 0.040 0.045
4. 0.035 0.045 0.050
5. 0.040 0.048 0.055
6. 0.045 0.050 0.060
7. 0.050 0.070 0.080
8. 0.075 0.100 0.115
1. 0.030 0.040 0.050
2. 0.040 0.050 0.070
1. 0.025 0.060
2. 0.035 0.100
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